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Answers for Multiple Choice:
6. b
7. c
8. Not sure
9.b
Answers for True or False:
10. F
11. F
12. T
13. F
14. T
15. F
16. F
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Exam 1 Fall 2014

111

etermine whether each of the following statements is true or false. Circle the correct
answer IN THE TABLE ON THE FRONT PAGE. Each correct answer is worth 3 points.

1f A + B is invertible then A and B are invertible.

A is not invertible then the system Az = b has infinitely many solutions.

3 i gty
é Té 22 (1) then A! is not invertible.
T —2 -3 —4

| z are solutions of the system Az =0b then any linear combination of y and z is

olution.

’ 9
i 3
o { 4 l is a linear combination of { 0 } and { 2 } -
3 0 3

6
A=0or A=1

: | row echelon form of the augmented matrix of a linear system has a row of

system has infinitely many solutions.
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g oy - 2~ 3
2t + 5y — az = 0
3z + Ty + 22 = b
b) a unique solution, ¢) infinitely many solutions?
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an n x n matrix. Show that if (242+31)2 = A+ I then A is invertible.
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answer to each of the following problems IN THE TABLE ON THE

‘Bach correct answer is worth 5 points.

. If B is the inverse of A then the sum of the diagonal entries of B
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oFEb b b
e b1 is in row echelon form then we must have
1052 46 et

a) a=b=c=0or(a=1andb=c=0)

b) a€eRandb#0andceR

e 7&[ Jandbe Randce R
d) (a#0and b=c=0)or (a#0 and b # 0 and c ¢
e) a,b,c are all nonzero
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none of the above
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